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@ 0.6D + 0.7E

48

: 15kN/m?

DW= 6Xx10Xx10X15=9000 kN

© E,=0.5x0.14 9000 = 630 kN

© B, =0.14X9000 = 1260 kN
=13.167X L =13.167 <10 = 131.67kN/m

= §x 19x3%%0.154 = 13.16TkN
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EPGAj = S5X F, X =0.22 X 14X 5—02053

3
K, = 0.75 < EPGA;; = 0.75 % 0.2053 = 0.154
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@ 1.2D + 1.0E :
— AAFA S (Py) ¢ 1.2
— AAHsks(Ph) @ 1.0

® 0.9D + 1.0E :

1.4 X 9000 12600 kN

SRR

9,000 + 1.0 X 630 = 11,400.00 kN
1,260 + 1.0 X 131.67 = 1,391.67 kN
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— AAFAEE(Py) + 0.9 X 9,000 + 1.0 X 630 = 8,730.00 kN
— AAH3sE(Ph) 1.0 X 1,260 + 1.0 X 131.67 = 1,391.67 kN
v HAY
@M 1.4D : A
— A% 1 12600 / 100 = 126 kPa
@ 1.2D + 1.0E : A FA]
— AAG238E(Pv) 11,400 kN
— AASH3E(Ph) © 1,391.67 kN
— FARWEM) : 1.0 X 1,260 X 9 + 1.0 X 131.67 X 1.5 = 11,537.505 kN—m
A g _Po My 1400  6x11537.505 oo
A Z 100 10 < 10?
— HANHAY ¢ Gax :%4— A?: 11380+ 6X11)1>i3170.2505 = 183.22 kPa
® 0.9D + 1.0E : A ZA|
— AAFA 55 (Py) 8730 kN
— A A3 (Ph) @ 1391.67 kN



— FARHEM) : 1.0 X 1260 X 9 + 1.0 X 131.67 X 1.5 = 11537.505 kN—m
Pp My 8730 6x11537.505

— iv/;\_;(qx o} . = — = 18.
HAHAY T Gnin Y 7 100 0% 102 8.07 kPa
P, M, 8730 6x11537.505
— H A x or =" 4 = = 156.52
IO A ¢ Qax Y ~Z = 100 0% 102 56.52 kPa
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- A& A48T 0 Py = quinBL = 18.07 X 1.25 X 1.25 = 28.23 kN
- Aol #HsF ¢ V,=V/N, = 1391.67 / 25 = 55.67 kN
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l 0.133
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0.058
0.020
-0.018
-0.056

-0.094

-0.132

-0.170

3.908E-002

l 3.785E-002
l 3.661E-002

3.538E-002
3.414E-002
3.291E-002
3.168E-002

2.797E-002

= 2.921E-002

2.674E-002

Wl @ 3.52mm =3 : 134.7kN
v - g -
W VisualFEA ¥ VisualFEA
Contour: Displacement X Max.=0.003516 Contour: Axial Force Max.=-26.9
Min.=-5.305e-007 Min.=-134.7
3.516E-003 . -2.690E+001
l 3.164E-003 . -3.769E+001
l 2.813E-003 . -4 84TE+001
2.461E-003 -5.925E+001
2.109E-003 -7.004E+001
1.758E-003 -8.082E+001
l 1.406E-003 . -9.160E+001
l 1.054E-003 . -1.024E+002
l 7.027E-004 . -1.132E+002
3.511E-004 . -1.240E+002
l -5.305E-007 -1.347E+002
EWE : 0.21kN—m HAe= 0 0.04kN
e - z
W VisualFEA ¥ VisualFEA
Contour: Bending Moment Z Max.=0.2091 Contour: Shear Y Force Max.=0.03908
Min.=-0.1697 Min.=0.02674
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4.5.1 AEZxA

— N=40, A AZ0] 6.0m¢ 4% AAE A

- 259 44 F=H P, = 665kN

4.5.2 U5 AdxAy HE

, 1
o,=vH, = (19— 10)5(6+ 12) =81kPa

1.92 1.92
N, = {0.77log10(0—9,)}1v= [0.7710g10( J )}40:32.6

: 0.081
0.038N,,,. D, 0.038 < 32.6 <3000
q, 5 00 7.432 MPa

g =0.4N=0.4¥40=16 MPa

0.5
Qp= qup =17.432 % 1 = 1.458 MPa

4.5.3 @59 FHntz
g, = 0.0019 N=0.0019 <40 = 0.076 MPa

Qg = q,A, =0.076 X7 < 0.5 X6 = 0.716 MPa
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Qp = ¢Q, =0.45(1.458+0.716) = 0.978 MPa = 976 kN
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